
𝑦 = (𝑥 − 1)2 𝑦 = −1 + 1
𝑥2 for 𝑥 ≠ 0

𝑦 = 𝑥(1 − 𝑥) 𝑦 = |𝑥|

𝑦 = 1 + 1
𝑥 for 𝑥 ≠ 0 𝑦 = 𝑥(𝑥 + 7)

𝑦 = (𝑥 − 1)2(𝑥 + 3) 𝑦 = 3
𝑥2 for 𝑥 ≠ 0

𝑦 = 𝑥 − 1
𝑥 for 𝑥 ≠ 0 𝑦 = 𝑥 + 1

𝑥 for 𝑥 ≠ 0

𝑦 = 1 + 1
𝑥 for 𝑥 ≠ 0 𝑦 = 𝑥2 + 3

𝑦 = 𝑥3 𝑦 = 𝑥

𝑦 = 𝑥
(𝑥 − 1)2 for 𝑥 ≠ 1 𝑦 = 1

𝑥3 for 𝑥 ≠ 0

Copyright © University of Cambridge. All rights reserved.
https://undergroundmathematics.org/thinking-about-functions/two-way-functions

Last updated 06-Jul-16

https://undergroundmathematics.org/thinking-about-functions/two-way-functions

